@ Concept Summary Representing Inequalities

Words Symbols Graph
xis less than 3. x<3 -‘_é _; {:, 1 2 ?—L—;T
x is greater than —2. G 1_; _; _? 1 0 1 2 3 s
xis less than or equal to 0. x=0 “‘_i _,; —i _i ‘E : =2 é i
xis greater than orequaltol. x=1 < ————
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Interval notation

parentheses: Use (or ) when a < or > symbol indicates that the interval’s endpoints
are notincluded.

brackets: Use [ or | when a = or = symbol indicates that the interval’s endpoints
are included.

infinity: Use = when the interval continues forever in a positive direction.
Use —>= when the interval continues forever in a negative direction.
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@ ) Key Concept Solving Absolute Value Inequalities
To solve an inequality in the form |A| < b, where Aisa “'_?,_?_"
variable expression and b > 0, solve the compound inequality -
b A<
To solve an inequality in the form |A| > b, where A isa i b

variable expression and b > 0, solve the compound inequality
A<—-borA>bh.

Similar rules are true for |A| < bor |[A| = b.




